280x80 S275 PLATE 25
THICK USED AS PACKER
AT END OF TIE BAR

~

\

\

_~ 80x8 THICK S275 FWAT TIE

@ — ©

~
Dv\ EXISTING TIE BAR
X

DETAIL N

J

SCALE 1:10

155x15 THICK S275 PLATE 355
LONG WELDED TO END OF PFC WITH
8mm FULL PROFILE FILLET WELD. 4
No 18mm DIAMETER HOLES TO
TAKE 4 No M16 gr8.8 BOLTS

155
25 95 %

(ol o

355

175
R 7S S,
(S,

Hofp—o| |

60
%

S275 PLATE HAUNCH
WITH 90x12 FLANGE
AND 8mm WEB

G

E—

PROPOSED 24m
3

_u_>zml-m ER TIE B

r—

EXISTING
TIE BARS

VIEW ON A—A DETAIL A FRAME Of1

SCALE 1:5

155

55

35 95

25

22

155x15 THICK S275 PLATE 355
LONG WELDED TO END OF PFC
WITH 8mm FULL PROFILE FILLET
WELD. PLATE DRILLED WITH 2 No
18mm DIAMETER HOLES TO TAKE
2 No M16 gr8.8 BOLTS

S275 PLATE HAUNCH
WITH 90x12 FLANGE
AND 8mm WEB

gr8.8 BOLTS ks

1
150x90 PFC
2 No M12
COACH SCREWS

2 No M16 og
»

7
o

355

175

VIEW ON A1-Al

SCALE 1:5

w 0x100x10 RSA

/5

VIEW ON E—-F FRAME 01

SCALE 1:10

2 No M16
gr8.8 BOLTS

150x90 PFC

2 No M12

COACH SCREWS

25

150x90 PFC

55

TRUSS BOTTOM CHORD

150x90 PFC

150x90 PFC

150x90 PFC

PLAN ON A—A DETAIL A FRAME 01

SCALE 1:5

100x10 RSA

DETAIL A

SCALE 1:10

45

150x90 PFC

40

DETAIL C

SCALE 1:10

50

175
95

Vi

~

[_‘ﬂ”ﬁ”

200x100x10 RSA

25

PLAN ON DETAIL E

SCALE 1:10

ELEVATION ON FRAMES

MARK 01 AND MARK O1A

SCALE 1:25

155

25

95

55 |

355

175

60

1

155x15 THICK S275 PLATE 355
LONG WELDED TO END OF PFC WITH
8mm FULL PROFILE FILLET WELD. 4
No 18mm DIAMETER HOLES TO
TAKE 4 No M16 gr8.8 BOLTS

VIEW ON A—A DETAIL Aa FRAME O1A

S275 PLATE HAUNCH
WITH 90x12 FLANGE

AND 8mm WEB

G

25

80x25 THICK S275 PACKER
PROVIDED AS TO ENSURE THAT
TIE BAR CLEARS ALL EXISTING

STRAPPING ON TRUSS /

80x25 THICK S275 PACKER
PROVIDED AS TO ENSURE THAT
TIE BAR CLEARS ALL EXISTING
STRAPPING ON TRUSS

55

150x90 PFC

b

TRUSS BOTTOM CHORD

B+

PROPOSED 24mm
DIAMETER TIE BARS

EXISTING

TIE

BARS

A

PLAN ON A—A DETAIL Aa

150x90 PFC

SCALE 1:5

SCALE 1:5

325

55

125

38

110

‘35

» 110x10 THICK S275 PLATE 325 LONG

WELDED TO END OF PFC WITH 8mm
FULL PROFILE FILLET WELD. PLATE

VIEW ON B-B

SCALE 1:5

g | DETAL B

SCALE 1:10

SCALE 1:10

200x100x10 RSA

10mm THICK S275 END

PLATE AND FULL DEPTH WEB
STIFFENER WELDED TO_PFC
WITH 6mm FULL PROFILE

FILLET WELDS

o
| DRILLED WITH 2 No 18mm DIAMETER
HOLES TO TAKE 2 No M16 gr8.8 BOLTS
150x90 PFC
350
50
N /’
~
. ) /V’
Nmoxwo E.:O/ ¥ /@ A
SN
ll/
DETAL D __ !
SCALE 1:10 3

FRAME O1A SCALE 155
10mm  STEEL 10mm STEEL
PACKER PACKER
M20 THROUGH
N/ BOLT N/
150x90 PFC ~ RAFTER OF 150x90 PFC

25mm DIAMETER % g e \J
275 TIE z ° & X
“ _
DETAL A FRAME 01 o Q@ @\ % =
DETAIL Aa F , , =
- o > 7 80x25 THICK S275 PLATE 7
>_ \\ ™~ __l 280 LONG. 2 No 27mm
N~ = M = ~U DIAMETER HOLES TO TAKE
o _ = = — = = N = — = — —Te = 2 No M24 BOLTS
e — — == S — O F o
_— N VIEW ON N-N
DETAL M DETAL M SAE T
DETAIL B DETAIL B
150190 PFC — M = — e 150x90 pre
. — — — ~ e —
— ‘ ) e DET.
E DETAIL, =4 — 5

— L

150

150

240 NOMINAL
120

o o

150x90 PFC

VIEW ON

N

C-C

SECTION D-D

PRINCIPAL TRUSS

BOTTOM CHORD OF
PRINCIPAL TRUSS

—

FRAME 01

SCALE 1:10

3 No 22mm DIAMETER
HOLES THROUGH END OF
PFC. 3 No M20 gr8.8
THROUGH BOLTS THROUGH
TRUSS TO ADJACENT FRAME

oS

-

FIN PLATE OUT OF 150x10 THICK $275
PLATE WELDED TO PFC WITH 6mm FULL
PROFILE FILLET WELD. PLATE DRILLED
WITH 2 No 18mm DIAMETER HOLES FOR
2 No M16 gr8.8 BOLTS

100x10 THICK S275 STIFFENER
285 LONG WELDED TO PFC
AND FIN PLATE WITH 6mm
FULL PROFILE FILLET WELD

10 THICK S275 FULL
DEPTH WEB STIFFENER
WELDED TO PFC WITH 6mm
FULL PROFILE FILLET WELD

M20 THROUGH BOLTS
WITH 60x60x5 SQUARE
PLATE WASHERS

RAFTER OF
PRINCIPAL TRUSS

BOTTOM CHORD OF
PRINCIPAL TRUSS

S

SECTION D—D FRAME 0O1A

SCALE 1:10

120x120x8 RSA CLEAT. 2 No 12mm
HOLES SLOTTED 10mm AS SHOWN
FOR 2 No M10 gr8.8 BOLTS. 2 No
12mm DIAMETER HOLES FOR 2 No
M10 COACH SCREWS INTO TOP OF
TRUSS CEILING MEMBER WITH MIN
40mm EDGE DISTANCE TO FACE OF
TIMBER

150x120x10 THICK S275 TOE PLATE
WELDED TO FLANGES OF PFC WITH
6mm FILLET WELD. 2 No 12mm
DIAMETER HOLES TO TAKE 2 No
M10 gr8.8 BOLTS

HEALTH AND SAFETY/CDM

Clarke Nicholls & Marcel Ltd's role on this project is that of 'Designer' as defined by
CDM Regulations and as such the design has been considered for foreseeable hazards

and associated risks.
H. & S. matters which have been identified as being significantly hazardous:

However, these items should in no way be considered as a complete and final list.

The Contractor's normal H. & S. obligations still apply when undertaking
constructional operations both on and off-site. This also applies to all
Works/(Sub-)contractors.

GENERAL NOTES

1. This drawing is to be read in conjunction with all relevant architects, and all other

drawings. Any inconsistencies in relation to the above should be brought to the

attention of the contract administrator by the contractor as soon as possible prior to

construction.

2. For the purposes of construction this drawing must not be scaled, and only

written or calculated dimensions are to be used.

3. ALL HOT ROLLED STEELWORK THOROUGHLY CLEANED

AND DEGREASED PRIOR TO BLAST CLEANING TO SA2j
AND SHOP PAINTED WITH 2 COATS HIGH BUILD ZINC

PHOSPHATE PRIMER WITH A DFT OF 80 MICRONS TOUCHED

UP ON SITE AS REQUIRED

C4 | CONSTRUCTION ISSUE. NEW TIE BAR
CHANGED FROM 258 BAR TO 80x8 FLAT
TO ADDRESS CLEARANCE AT TOP OF
NEW STEEL

C3 |CONSTRUCTION ISSUE. REDRAWN TO
SHOW REVISED BEAMS AND HANGERS
CONNECTION DETAIL.

C2 |NEW TIE BAR END DETAIL REFERENCE
CHANGED TO DETAIL N

C1 [ CONSTRUCTION ISSUE

25.08.21| ICT

26.04.21| KR

22.02.21| ICT

09.02.21{ ICT

MS

ICT

MS

MS

Drawn

Rev Revision Note Revision Date | g,

Checked
By

Contract

HOLY TRINITY CHURCH
CHELTENHAM

Drawing

FRAME MARK 01
ELEVATION AND DETAILS

Architect/Client

FALCONER & GILBERT SCOTT ARCHITECTS

TRINITY CHELTENHAM P.C.C.

Clarke Nicholls Marcel

cCiIviL & STRUCTURAL

ENGINEERS

Seasons Business Complex, Quat Goose Lane
Swindon Village, Cheltenham GL51 9RX

t +44(0)1242 528232
f +44(0)1242 526356

www.clarkenichollsmarcel.com

Registered Company N 4381092

Drawing Status

CONSTRUCTION ISSUE

Drawn By Checked By
ICT MS
Date Scale @ Al
MARCH 2020 1:50
Drawing No.
11074/C/011
C1|C2|C3|C4

© Clarke Nicholls Marcel Limited




